(ADC32J4X Channel A)

ADC34J4X
Channel A and D Input

Sheet 2

(ADC32J4X Channel B)

ADC34J4X
Channel B and C Input

Sheet 3

ADC32J4X /| ADC34J4X
Sheet 4

AMPLIFIER
Sheet 5

LMK04828
Clock Input
Sheet 6

LMKO04828
Inputs & Outputs
Sheet 7

LMK04828
Power & Config
Sheet 8

FMC Connector
Sheet 9

POWER SUPPLY

POWER SUPPLY
Sheet 11

USB Interface
Sheet 12

Sheet 10
‘ Ri# TEXAS INSTRUMENTS
F"e ADC32JXX/ADC34JXX
= | peement R ADC3XJXX EVM reé
PCB: Kim Le ID:«ms: Monday, August 04, 2014 Fheet 1 of 12




5 4 3 2
DNI this page for ADC323XX
D
Cc1 R3 R2
f R1 Do NO'%'KIN_P SH4
SHARED PAD 1:1 1:1 Do Not S{uff Do Not Stuff Do Not Stuff
J1 T2
AIN_CH-AP RS Sg Not Stuff i i
Do Not Stuff oS Do Not Stuff 11pF caps in parallel to avoid stub
° ° o Mot =t Install 82nH in high frequency mode
5 2 -
L6
° {VCM SH2,3,4,5 Do Not Stuff
6 3 05 uff
cs5
J2 AIN_CHM R7 Do Not Stuff Do Not Stuff 100 OHM DIFF
AIN_CH-AM Do Not Stuff , 7 SWDN Do Not Sthiff
Do Not Stuff o NotBtuff  —=
SHARED PAD ¢ R11 l Do Not Stuff = B Do Not Stuff
DNl Do Not Stuff lm cs 0 Not Stu
Do Not Stuff
Do Not Stuff c2 R9 R4
— l ! L i} ¢ R14 Do NIUSKIN M sHa
= = = Do Not Stuff Do Not Stuff Do Not Stuff
(o
e
c31 Ra44 R54
. R43 Do Nots§t
SHARED PAD é Not S{uff Do Not Stuff Do Not Stuff e s
0 NOT & 0 NOt Ui 0 NOf Ui
J7 1:1 1:1
o [S)t\lr}?cwop Do Not Stuff 4 DoNotSwif 4 R47 ggst Stuff
Do Not Stff ° Do Not St Do Not Stuff 11pF caps in parallel to avoid stub
o Install 82nH in high frequency mode
2 5 5 2 B
e 2 L30
= . o Rtk Vem sH2345 {Po Not stuff
3 4 6 1
%® Do Neg Stuff B Not st Bo Not st 100 OHM DIFF
DIN_CH-DM U L ™ 131 R49 I I
Do Not Stuff SHARED PAD 2 . 1 Do No f R55
DNI R53 Do Not Stuff =
Do Not Stuff l co3 l c94 Do Not Stuff
e Do Not Stuff
Iﬁ)o Not Stuff cse R45 R R56 Do NS BiNfT sHa
— r v -
— = = Do Not Stuff Do Not Stuff Do Not Stuff -
ADC34J4X CHANNEL A, D INPUT
X T I A
Louu i bUuiCvaiu. Lusauo,  ieaus oo
itle
ize Document Number ev
B ADC3XJXX EVM [

Date: Monday, August 04, 2074 Bheet 2 of 12
1




5 4 3 1
' ADCBM SH5
SH5 AMPBINP))
R137 Ro2s
c11 BN °
DNI R16 0
SHARED PAD —F . R258 5> BIN_P SH4
13 1 BINCHP | Ro17, 0 1:1 1:1 AuF 499 SHARED PAD
BIN_CH-BP | &b ADTA-1WT ADT1-1WT
SMAEND LAUNCH o R216 1 2 9 4 . .
0 5 N 30nH 11pF caps in parallel to avoid stub
= DNI Install 82nH in high frequency mode
2 5 5 2
’ 100 OHM DIFF
3 4 6 ° 1 00 0 L]
Ja 1_BIN_CHM R21 0 3
BIN_CH-BM | 5 T4
SMAEND LAUNCH |  SHARED PAD DN R24 2 184
DNI L Ro22 0 _L 39nH
S 0 c17
AuF c19 R17 0 SHARED PAD
NI == I ! L} s R226 \ )\ > BIN_M SH4
SH5 AMPBINMY - = AuF 49.9
R227
3.24
DNI
(o
‘{ ADCBP SH5
'(ADCCP SH5
R232
3.24
0 DNI T
SHARED PAD DNI c21 R30 235 0
F 3> CIN_P SH4
J5 [SHA] 1CIN_CHP | R219, 0 r -
CIN_CH-CP | & 1:1 1:1 AuF 49.9 SHARED PAD
SMA END LAUNCH 5 T6
bl R218 3 4 o L7, ) .
= 0 5 5 39nH 11pF caps in parallel to avoid stub
DNI Install 82nH in high frequency mode
2 5 5 2
L22
= . o o 4 11pF
ADT1-1WT 100 OHM DIFF
SHARED PAD ADT1-1WT , 35,
HE l _L 39nH
cr4
c73 pind
TuF Aul c29 R31 0 SHARED PAD
i k 3> CIN_M SH4
= = AuF 49.9
R235
3.24
DNI
KADCCM SH5
ADC34J4X CHANNEL B, C INPUT

CIN_CH-CM
SMA END LAUNCH
DNI

SH5 AMPCINP),

ADC32J4X CHANNEL A, B INPUT

%# TEXAS INSTRUMENTS

itle

ize
Bheet

Document Number
ADC3XJXX EVM
3 of 12

B |
Date: Monday, August 04, 2074
1




: H c43  AUF
DVDD1.8Y Local chip decoupling Provide LVDS to LVPECL 1 {2—>> DAOM SHo 1.8V_LOGIC
] (.95Vcm) DC coupled 1425 pAOP SHe
translation Ca5_q UF, C44 IR cs4 1.8_LOGIC
_ ~ i} > DBOM SH9 ,1uFI
ca1 7| caz 12
v Tov AVODA 8V el 3> DBOP SHO 1L
o o 1.8V_LOGIC . R
] I 5 U2 4 sw1
= €53 Do Not Stuf i vce NC (% —_
Rs7 <R58 ; A
953 953 Y i 5 »p DCOM SH9 | RESET 41, OND [ a6 ADC RESET
AVDD1.8V I DCOP SH9 ;
C55 " " Do Not Stuff E SN74AUP1G14DCK .01uF =
SH9 SYNCP 12 :
SH9 SYNCM g< ! { o7 Moo PoM SHO = =
| car J_C48 1049 "J_cso “_]_051 "J_csz “J_cma 142 DDOP SHY i
AuF ZZ.1uF AuF JAuF AuF JAuF JAuF C58 Do Not Stuff H
(:1'10\/ 10v va va va l;l'mv 10v Reo Skt i
DNI for ADC32IXX |
N = = AVDII_)I1_.8V
ce1 “J_csz “J_cea "J_osA “J_cms “J_ceo [ Y
—AuF AuF AuF AUF AuF AuF DI for ADC32IXX 2} 2 Ni\. 2SS (B(8]S DNI for ADC32IXX
1ov T 1ov r:l— 1oV T Tov r:l— 1oV <:[ 1oV or AR P2 DVDD1.8V 2 358354235835 DVDD1.8V OuRe OuRD Dvbo8Y
OVRA Wty § 3538 ol‘z’ 288388, T White O Do Not duff
Do NdE¥tuff AVDD1.8V E oS oL55S5 S AVDD1.8V -
ADC CLK F 36 OVRC SH9 PoN 10K
SH9 OVRB OVR_B ovaTo [ OVRD SH9 3
SHo OVRA§< - D 734 )
LVPECLAC || cpecL XFMR oves™ el R ’
(default): : ut 32— 1 ["Inactive channel on ADC32IXX
Inactive channel on ADC32IXX AVDD ADC3XJXX AVDD |75 SHUNT 1-2
AVDD INM_D 55 DIN_M SH2
R200, R201 (sh6) 0 ohm 7.5 ohm SH2 AIN_Mg< INM_A INP_D {5 DIN_P SH2 L
R204, R205 (sh6 240 ohm DNI SH2 AIN_P INP_A AVDD [ =
L (sh6) 81 AvOD AVDD - 2&——H
R65, R67 50 ohm 50 ohm 100 ohm 13 AVDD NP C .%—: CIN_P SH3
SH3 BIN_P INP_B INM_C f5e—— CINM SH3
R76, R79 DNI DNI DNI oh3 BIN_M§< :; INMCB s NBD 2
R73, R80 0.1uF 0 ohm DNI AVDD < & LR
C68, C69 DNI DNI 0.1uF bvbD1.8v % _3803qUEr
66 0.1uF DNI 0.1uF 508320028003 ReD Ti';s
R63 VCMOUT
ADC SYSREF MASTER DUt K zlelellelolgle il al > VM SH23.5
C65' |
LVPECLAC | LCPECL SH12 ADC_SDENE (-2 {8 81! RESET  .IuF
(default): - 5 JP3 16V,
SH12 ADC_SCLK <K fo e} =
R202, R203 (sh6) 0 ohm 7.5 ohm 2 P44 B
SYSREF-
R106, R107 (sh6) | 240 ohm DNI sHiz ADC_spio K—{e'®} , s o e
R69, R70 50 ohm 50 ohm SH12 ADC_SDO &K oo SYSREF+ R69 R70 —/\/\/\——1—@ SMP_PCB_SMT
[} EXT SYSREF-
RR7727 F'gf (I))TIF (')JN; 423 499 499 DNI il
.1u ohm SMP_PCB_SMT =
A R65 R67 CB co7
C67 0.1uF 0 ohm EXT SYSREF+ 0 R72 0
49.9 499 L = AANA——<SYSREFM  SH7
ce6 - R74 0 ((SYSREFP SH7
O01uF
DNI L
ce8 = R73  AUF —RW/\/\O/\—«SVS M SH9
" To 1 {2 ADCLK+ A CLKP SH7 NI -
P=g 1 ADC_CLK 1 6 ACLKP R78 0
EXT_ADG_CLK [M AUF
S bon a0 SHARED| PAD R 0 W {sYs_P sH9
s 2 5 < CLK-P SH9
L DNI
- R79 0
3 4 ACLKM K CLK-M SH9
ADT4-6WT+ C'gg' DNI ADC
TP6  TP7 TP TP TP10 - R R < CLKM SH7 i
8
e TEXAS INSTRUMENTS
BLK Q BLK QO BLK Q BLK O BLK 1:‘;
'10\/ itle
=3 ize Document Number ADCSXJ EVM
B XX
Date: Monday, August 04, 2014 Bheet 4 of 12
5 I 4 I 3 I 2 1




5 4 3 2 1
+V VAMPB
= PDB
FB31
R242 T R243 T
1K @ 100MHz 20K DNI
DNI THIS PAGE FOR ADC34JXXEVM Lew _Lmﬂ R108
1.0uF AR 49.9
Amp Power Down B
) _L_
VAMPC N
PDC
FB32
R249 T R250 T
@ 100MHz 2 20K DNI
1K
_Lcmg c200 R124
1.0uF J1uF 49.9
Amp Power Down C
40MHz Bessel Filter .
PDB 3 =
u14 R268 >
YO ADCBM SH3
" 150nH
SH3 AMPBINP = 1 R
R240 L o &4 < o
59 38 % b o L c247 L coss
FB-> > > 3 T 130 T 56pF
P
= VIN+ our. pt
- THS4541RGYOV™
3 10 R269 L37
VIN- VOUT+ YN >> ADCBP SH3
442 150nH VCM_AMPB
+ o+ 0+ o+ B8 9 T
FBr o & & o Yoem
R237 - - °
SH3 AMPBINM, VAMPB | ©| ™| ©f | THS4541RGT VAMPB VCM_AMPB
T R259
VCM SH2,34,5
R264 R239 4 732 >
499 +0.95V
Coupling %5%0;3 0.22uF
SHUNT 12 % VAMP! 200
2 to 3 for AC coupled Vin 10nF
P2 to 1 for DC coupled Vin —
VAMPC =
40MHz Bessel Filter
PDC
u1s R125 L26
AN >» ADCCM  SH3
442
SH3 AMPCINP} e e I e
R133 T Y
59 333 0 0 L ca0s L coos
FB- > > > > T 130 T 56pF
pl
= VIN+ out- pUt
= THS4541RGY
10 R251 L27
VIN- VOUT+ Y AN pv— >> ADCCP SH3
- 1/
8
FB+% é é % giocm 9
> > 3> > &
SH3 AMPCINM ) VAMPG VAMPC
w| ©f ~ o ~| THS4541RGT ONI VCM_AMPC
R257 R256 R262
Coupling Opti 499 % R104
oupling Options
SHUNT 1-2 c21p 11K 4 >> VCM SH2,34,5
SJP2 o~ +0.95v .
2 to 3 for AC coupled Vin 0.22uF R263 ’
‘ VAP w0 0 Lot EXAS INSTRUMENTS
?2 to 1 for DC coupled Vin DNI 10nF
itle
= L AMPLIFIER
ize Document Number ev
B ADC3XJXX EVM E
Date: Monday, August 04, 2074 Bheet 5 of 12
5 | 4 | 3 | 2 1




Place close to LMK

R81 TO SHARE PADS W/ T5

R81 0
DNI
J10 P39 1 LVK_CLKIN _Re2 18 CLKIN | 6 O 1| cikne > CLKINT_P SHT
LMK_CLKIN ° o -
L]
L R83 R84 2
= 202 292
c72 Shared Pad
4 3 | CLKINN i . 5> CLKINT_N SH7
= = TC1-1-13M+ O1uF
1 DNI
= = €33

I

MECHANICAL PARTS

e

SCREW, 4-40 X 3/4", PHIL, SS

Y

4-40 X 3/4", PHIL, SS

Y

=

T1

j

STANDOFF, FEMALE, 4-40 X 1"
MT2

i

SCREW,

STANDOFF, FEMALE, 4-40 X 1"
MT3

i

STANDOFF, FEMALE, 4-40 X 1"

MT4

i

STANDOFF, FEMALE, 4-40 X 1"

MT5

i

STANDOFF, FEMALE, 4-40 X 1"

MT6

i

STANDOFF, FEMALE, 4-40 X 1"_|

SCREW, 4-40 X 3/4", PHIL, SS

Y

SCREW, 4-40 X 3/4", PHIL, SS

Y,

SCREW, 4-40 X 3/4", PHIL, SS

)

SCREW, 4-40 X 3/4", PHIL, SS

BARE BOARD, ADC32J4X/34J4X

CLOCK INPUT

%# TEXAS INSTRUMENTS

itle

SHO6 - CLOCK INPUT

ize

ADC3XJXX EVM

eV
e

Date: Monday, August 04, 2074 Bheet
1

[ of 12




4 3 2 1
+3.3VCLK
Place near Vc pin of Y1
RA0 R40 and C77 form voltage divider
o9 Set the center frequency voltage for PLL2 reference MATCHED LENGTH
cP1
c76 R200 0
68UF C17L7|F_L g CLKM SH4
: CLKP SH4
Vo R201 0 R202 75
rou = 7 : SYSREFM SH4
39K SYSREFP SH4
R203 7.5
4 R107 R205
- R106 240 R204 240
240 DNI 240
Place close to LMK DNI TSW JESD Interface
reference clock w/
hS = LVDS levels
U3A
R92 0 S>GTX_CLKP SH9
| 32
37 CPOUT1 (58
387 CLKINOp CPOUT2 RO3 o
¥ CLKINOn %0 3> GTX_CLKM SH9
OSCOUTp 21
0SCOUTn [— R96 Ro7
240 240
DCLKOUTO|
DGLKOUTOR DNI DNI MATCHED LENGTH
SDCLKOUT1p
SDCLKOUT1n =
cLkoUTa 18 GTX-CLKP Ro8 0 S>CAR_SYSREFP SH9
DCLKOUTZp 5 GTX-CLKM
DCLKOUT2n =73 CAR_SY Roo 0 JESD SYSREF
SpoLKOuT 14 CAR_SYSREF_M : S>CAR_SYSREFM SH9
€80 ;| AuF +3.3VCLK
DCLKOUT4p |24 R100 R101
ol
¢4—C81} 100pF P6 SH6 amm_ng gg CLKIN1p/FBCLKIN/FINp  DCLKOUT4n —g 240 240
SH6 CLKIN1_N CLKIN1n/FBCLKINN/FINn ~ SDCLKOUTSp [ DNI DNI
J e 2200pF | X0 PWR SDoikouTeh [23
c83 10pF FB1 DCLKOUTep [2E = 1
T'—| | n— 120 OHM @ 10001z DCLKOUTGN (28 CLKOUT_6P Cc84 [|_1uF_cLkouTePl 1 PR U oiirep
= SDCLKOUT7p 55— CLKOUT_6M il £ SMP_PCB_SMT
SDCLKOUT7n B
51 =
DCLKOUT8p oeg J14
DCLKOUTSN [aa——— -ﬂ| AuF_CLKOUTEM 1 ﬁ.l DCLKOUTEN
RIM yo, pC8S  (ogop SDCLKOUT9p (59 SMP_PCB_SMT
— | b———— SDCLKOUTYN [— Ri14 R115
+3.3VCLK 100 AuF c8s 54 240 240 )
SUP1 Y1 Ri12 DNI DNI DCLKOUT10p (25
EN P11 [C Voo 82 AuF | josoine 43 o Sggt&gﬂﬂ?” 56 MATCHED LENGTH
2 DNI GSCINN 44 ) p P57 K=
2 5 vor| « - OSCINn SDCLKOUT11n (= = 15
NG ouT P o = 62 CLKOUT_7P c8g I AuF_CLKOUT7P | 1 PR ae. | irre
- DCLKOUT12p [ P (
_,i— oND  out N A2 DOLKOUT12n _gg SMP_PCB_SMT
SDCLKOUT13p [ —
= = Cvggoéggrv:gé 000 ~ Place close to LMK socLkouTHan [ 6
-950-100. R32 CLKOUT_7M C90 || .1uF _ CLKOUTY! 9 sDeLKOUTIN
. I
Y2 CMOS version OUTPUT on PIN 4 130 L MK04828 9 sSMP_PCB_SMT
DNI R118, R119
RUI7T  voa N S osen “ c92 Au 240 240
JA
_ 100 AUF -
c40
R121 =
R33 S
499 T20F CLK-LAO-OP R22 0
82 pl STt S>CLK_LAO_OP SH9
oL DN o | o3 o JESD CORECLOCK
= = Ri22 R123 S>CLK_LAO_OM SH9
240 240
DNI DNI
Q‘ | I
itle
LMK SHO7 - LMK INPUTS & OUTPUTS
ize Document Number ev
B ADC3XJXX EVM
Date: Monday, August 04, 2014 Bheet 7 of 12
5 | 4 | 3 | 2 1




+3.3VCLK
120
1.1 . _
1uF -WuJ—O-muF SYNC Make sure this line does not hold LMK high
[ C95 | C9% I cor QO white before LMK can be programmed for SDO
u3B
+3.3VCLK 10
VCC1_VCO RESET - >> LMK_SDO SH12
120 17 SYNC 5 < sYNC SH9
- VCC2_CG1 CS g < LMK_CS SH12
120 SCK S LMK_SCK SH12
1FB.5rJL 211 ycea_SYSREF spio -2 K LMK_SDIO SH12
120
= 26
VCC4_CG2 R126
Kol I - CLKin_SELO gg 2 1_STATO ’ A7 _D1
33VCLK P T 1uF VCC5_DIG CLKin_SEL1 750 LED GREEN
’ FB7 ;0235 ;0238 jj:czw 36 1 veee_pLt STATUS_LD1 ig R127 STATO
120 = - = 39 STATUS_LD2 1 STAT1 A D2
pu VCC7_0SCout Y50
120 FB29 42 " LED GREEN
oF 1 0.01uF U VCC8_0SCin LDObyp1 (5 STAT1
u 1l .01u FB8 120 LDObyp2 R128
C102° | C103[ C104 T\ 45 Vee9_cP2 ; 2 o 1 LMK LOCKED a7 D3 |
120 47| ccro pLie NTIs  cros c106 LED GREEN
= TBIVCIK 0 | Nes e auF 10uF. LMK LOCKED
53 16V 10% R129 P
VCC11_CG3 2 1PLL2 LOCKED > D4
120 = = 750
- 84 1 \cetz_ceo oap |88 - - LED GREEN iL
il - PLL2LOCKED =
——1uF 1uF =
c240 239 LMK04828

LMK

%i# TExAs INSTRUMENTS

itle

SHO8 - LMK POWER & CONF

ize Document Number

B | ADC3XJXX EVM

Date: Monday, August 04, 2074 Bheet 8 of 12
5 I 4 I 3 I 2 1




SH4
SH4

SH4
SH4

SH4
SH4

DBOP
DBOM

DCOP
DCOM

DDOP
DDOM

&

J17Cc

34488-01

JITA 4178
A c1
Al c1
SN g gle ol
Ad | A3 C3 ¢4 E3 | E2 G2 &3
A s e e &5 [res
A7 c7 DAOM SH4 *— E6 G6 o1 CLK_LAO_OP SH7
A8 1 s s -8 Eler o7 L gCLK_LAO_OM sH7  JESD CORECLOCK
A9 co ——=5{ E8
A C10 E9
A10 c1o ¢ 5 E9 CAR_SYSREFP SH7
AT At cit 13 El% e CAR_SYSREFM sH7 JESD SYSREF
A3 | A12 C12 &75 E12 ] E11
A13 c13 & - E12 G123 SYNCP SH4
A Cia [E12 gg FMC_SCLK SH12 El e G13 gg SYNCM SH4
me| 108 e Hesne s ET5 ] Ei2 ole FMC_SEN_LMK SH12
A16 c16 - E15 G15 | _SEN_
AL 7 c1r & R130 P E16 1 E16 Gi16 218 3 FMC_B5 SH12
A8 | s Cig 18 L2 ! D5 SV 7 ST
INER [C19 Yed = 18
A20| A19 C19 "E20 LED GREEN SH4 OVRB & E19 | E18 G18 I7G1g
[ A21 | A0 C20 "o JESD_SYNC £20 | E19 G19 "G20 SH4 OVRD
oo | A21 C21 (&5 - —E27 | E20 G20 [~&57—9 SHa OvRD éé
A23 | A22 C22 o3 E27 | E21 G21 7502
noa| A23 €23 |&5a Eo5] E22 G22 [Go3
o5 | A24 C24 |-E55 E54| E23 G23 (G571
—asa| A25 C25 |-G5e—  E24 G24 |
A6 |6 Coe [-528 E25 1 E%5 G25 [-922
a2l car 52T —E25 1 £% 626 28—
[ A29 | A28 €28 7Goo ] E28 | E27 827 MGog
—A30 | A29 C29 7330 E2g | E28 G28 59
T A30 €30 |¢ t—==5-1 E29 G29 &5
AT A3t Cat €3 S0 30 30 (930
A32 c32 E31 G31
35| A32 €32 &35 E37] E31 G31 [&an
A33 c33 —r35] E32 G32 5351
A3 C34 E33 G33
A35| A4 C34 35 £35 E33 G33 (@34
A36 | A35 C35 3p E35 | E34 G34 535
—a5o| A36 C36 G t—e=2—{ E35 G35 |G5a—
b AST | pa7 Car [-537 ES6 1 36 G36 [-930
A38_| €38 E37 | [Ga7
A3 | A8 C38 G391 E£38] E37 G37 [Gag
Aa0| A39 €39 a0 —F35-| E38 G38 5301
A40 C40 £40] E39 G39 [Za0
Bl g4 o1 |81 Fo 60 R139
B2 e 02 (22 e M H 0
5183 D3 5 £5 F2 H2 |5
g5 B4 D4 |55 gg GTX_CLKP SH7 4| F3 H3 [z DNI
sa B5 D5 (B GTX_CLKM SH7 Fe| F4 H4 s
—57 B6 D6 |57 Fa F5 H5 Fria L
B8 | B7 D71 5g F7_| 76 6 "h7 )
51 B8 D8 | — F7 H7 |
B9 D9 Fi H8
B10 | BY D9 ™10 Fo | F8 H8 Mg
511 B10 D10 {517 F10-| FO H9 o
B11 D11 — F10 H10 [
BT D12 Fi1 H11
B13 B12 D12 [~Bq3 Fia| F11 H11 [Frq2
B4 B13 D13 [~51a F15| F12 H12 (75
575 B14 D14 [ 515 g FMC_SDO SH12 F1a F13 H13 14
B16 B}g B:g D1 T FMC_SEN_ADC SH12 F151 F}g mg F1s
7 B F 0
S:;— B17 D17 —3}; 2 ! N” Dé E]?— F16 H16 g g FMC_B6 SH12
——=19| B18 D18 750 ~ F17 H17 FMC_DIR_CONTROL SH12
B19 D19 LED GREEN F18 8
—e55-1 B19 D19 F18 H18 [
B20 20 SPARE_LED1 F19 9
B27 B20 D20 [~p24 — Faor] F19 H19 120
B2 B21 D21 559 A7 D7 F21] F20 H20 |51
—F55 B22 D22 [-555—1 Foo| F21 H21 53
554 B23 D23 [~poa LED GREEN 1 25| F22 H22 (155
25| B24 D24 o5 SPARE_LED2 = Foa| F23 H23 [~rion
Bog | B25 D25 [~p58 —Fo5 | F24 H24 [~p5e
557 | B26 D26 [~p%7 Foa | F25 H25 (120
555 B27 D27 (g o7 F26 H26 (57
829 | B28 D28 (5551 —F58 | F27 H27 56—
B30 B29 D29 [B3g Fog7] F28 H28 [Fiog
537 B30 D30 (P3¢ 30| F29 H29 (50
5321 B31 D31 3o Fa1| F30 H30 [~H57
B33 | B32 D32 [p33 F3z | F3! H31 R
B34 B33 D33 (P34 Fas| F32 H32 (i35
+—p35] B34 D34 —p3g Faa| F33 H33 ~F3r
t—a32-| B35 D35 [  Fa4 H34 [
B36 D36 F3 H35
37| B36 D36 ~p37 Fag| F35 H35 138
B35 B37 D37 |53 —rF37| F36 H36 [~F37—1
535 B38 D38 39 Fag | F37 H37 [i3g
B0 B39 D39 [Bag Fao | F38 H38 [~Fi39
— B40 D40 [— —Fa0-| F39 H39 70—
CON_SMVT_40x10_ASP-134488-01 40 H40 | =
= = CON_SMVT_40x10_ASP-1

j J1 K1 ;
35 02 K2 g5
s K3 er
51 94 K4 [y
6 95 K5 g
37 96 K6 7
36197 K7 kg
o 8 K8 ko
s0| 90 K9 K10
317 910 K10 11
o] 11 K11 1o
151 912 K12 |75
Jia] 913 K13 R1a
151 414 K14 g1
— J15 K15 et
J16 16
Y17 918 K16 17
e 17 K17 | 18
1191418 K18 79—
J20] 919 K19 g0 > OVRA SH4
51 J20 K20 [goq
J22 | 421 K21 "k22 -
Tog 422 K22 55 > SYNC SH8  Clock Synchronization
Ha J23 K23 [gon
Jo5 424 K24 |5
Jog 1 425 K25 |58
57 J26 K26 |57 DNI
Jog 927 K27 |55 R131 0
Jog 428 K28 |59 gg CLK-P SH4
330 J29 K29 [— 30 CLK-M SH4
Ja1 ] 430 K30 |37 R132 0
Jaz | 931 K31 30 DNI
33 | 432 K32 |33
7 J33 K33
J34 34
Ja5] 434 K34 |—peag
36| J35 K35 [3g DNI
Ja7] 436 K36 a7 R135 0
Y38 937 K37 [g3g g SYS_P SH4
>—J39 J38 K38 [ 39 SYS_M SH4
Jag] 439 K39 [z R136 0
J40 K40 |- DNI
CON_SMVT_40x10_ASP-1 For use with
= Deteministic Latency Testcard

FMC

%i# TExAs INSTRUMENTS

* SHO9 - OUTPUT - FMC CONN
|z; | Document Number ADCSXJXX EVM reé

heet 9 of 12
Bheet

Date: Monday, August 04, 2074

1




50V_IN SVIN
1 F1 DNI FB11
B
0 I_l FUSE 2.0A 63V FAST 600HM @ 10°MHZ_L c125 c127
- c123 c124 a2 _Lct2e R147
CONN JACK PWR 47uF IZZUF I u Iw.omf:[.mF 1K
= at L 1 . = = -
CsD18532Q5 = = = B B 08
P19 8 1
iy 7 3 '\ LED GREEN
) I PWR
D9 ] ~
MBRB2515L =
TP20
GND( V4
% NC1
L GND
- >§* NC3 GATE
= TPS2400
o us FB12
s L33 1uH =
G -8 - uF
T | r mo el e =
c130 | c131 5
T00F ==, MODE VS o1ss . U8 output = 3.0V
ul 51 .
R150 >{ THERMPAD R152 W o L For 1.8V, install R152
0 127K u uF =
DNI TPS62080 DNI
Pay close attention to
R154 feedback node in layout
0 20K
) = 1.8V_LOGIC
DVDD1.8V
1 kOhm @ 100MHz FB14
1kOhm @ 100MHz
1.8V AVDD1.8V
FB16
JP9 JP10
SHUNT 1-2 3sHUNT 12 | 1 KOhm @ 100MHz
2 2
1 3.0V_IN u10 1 Ny
c137 c145
?15,5 _L c13s | cia0 TPS7A4700 0142_[_ c1a3 _L ;]_ 0.01uF 5VIN
OuF —T—AuF 0.01uF c13 Cl44 AUF
10uF 16 1 AuF 7= 1.0uF
MUFTT e 141 157 IN1 OUT1 35 16v | 28V 47uf 5
= = IN2 ouT2 10wy = = 2
— 13 fen SENSE |2 = L
14 \n 0PV f R157, 0 -
7 0P2V [——1R158 0
51| GND 0P4V [ DNI
C146. PWRPAD  OP8V [ )
1.0uF 51 NCt 1P6V [ =
L g5 NC2 3P2V [ -
= = &{nNcs 6PAV1 [ 10 SENSE
| NCa 6P4V2 [ U10 _SENS
Keep sense line short
VREF = 1.4V P
1.8V
Q‘ | |
*  SH10 - POWER SUPPLIES
ize Document Number
B ADC3XJXX EVM
Date: Monday, September 08, 2014 Bheet 10 of 12
5 I 4 I 3 I 2 1




o
s
z

T o 134 1uH e
‘ T ‘ s
lm mes | MODE  vOS _Lm ;[ U11 output = 4.0V
10UF —T—0.1uF > THERMPAD R163 o2 _Lcise L For 3.3V, install R163
] TPS62080 a2k I IZZ"F

Pay close attention to
feedback node in layout R166

3.3V_LOGIC

1 kOhm @ 100MHz
JP13 +33VCLK
SHUNT 1-2 SHUNT 1-2 -
3 3P3V 3
2

2
1 4.3V_IN u12 1 E " -I- _L l
C156 c164 N C166 | c167
C155 F _L C157_I_0158 _Lo ouF TPS7A4700 c160| C162 _I_ cwsﬂ. 0.01uF C165
1.0uFI‘ 10uF: y

F—

1
1.0uF == 1uF
c161 1uF 10uF
AU T crs9 e IN1 Tl B [ l 63V | 28V | eV
= = IN2 ouT2 10\ == ==
L 18 fen SENSE [ ==
e
7 0P2V 10 R170 0
ol pEHaR,, B 0
1.0uF Lz oFey U12_SENSE
- NC2 3P2V .
= % N et 1 Keep sense line short wee
NC4 6P4V2 Ve
5VIN
5VIN
T l ‘L 47“1 ‘ :
5VIN 2
u16 -
_ch44 190 TPSTA4700 cret L e c24 0.01uF _| €24°
0.01uF . : 196 AuF =
10uF AF T Gror e IN1 outt Hs 16v | 25V 10w I
IN2 ouT2 =3 - -
18 fen SENSE |2 -
S R245,0
14 DNI
NR 0PIV = .
opv [T R4t 0 Keep sense line short
GND 0P4V Rod7 DNI
€243 PWRPAD 0P8V R248
1.0uFI NC1 1P6V
= = g5|Ne2 3P2V oNI
- - 12 NC3 6P4V1
< NC4 6P4V2 =
Default output is 1.4V+0.2+0.8+1.6 = 4V
3.3V
Q‘ | I
* SH11 - POWER SUPPLIES
ize Document Number ev
DNI = DO NOT INSTALL B ADC3XJXX EVM [
Date: Monday, August 04, 2074 heet 11 of 12
- I - I - I . ale:___Monday, Auqusl 04,20 L1




U4-2
SH9 FMC_SCLK 5 10_1_2/DIFFIO_L1P
5VIN SH9 FMC_SDIO < 10_1_3/DIFFIO_L1N
SH9 FMC_SDO 10_1_4/DIFFIO_L2P
SH9 FMC_SEN_ADC 10_1_5/DIFFIO_L2N
109 SH9 FMC_SEN_LMK = 10_1_6/DIFFIO_L3P
18 U SH9 FMC_B5 10_1_7/DIFFIO_L3N
Uss g us SH9 FMC_B6 0178
20 [oo oo I FTDI_SCLK SH9 FMC_DIR_CONTROI 101715
VBUS |- = —2- |0_1_16/DIFFIO_L4P
8 lenot D 16 | yseDM o1 2 FTDI_SDIO —| I0_1_17/DIFFIO_L4N
713\D2 D+ 19| I0_1_18/DIFFIO_L5P
8 1GND3 1D L__15] sepp o2 3 FTDI_SDO 20| IO_1_19/DIFFIO_L5N
9 | Gnp4 GND -2 c110 | o1 23 10_1_20/DIFFIO_L6P
4TpF 2= 47pF 4| vecio bg |11 FTDI_SEN_ADC 56| I0_1_21/DIFFIO_L6N
—L USB_MINI_AB R142 I DI SEN LMK 57| 10_1_26/DIFFIO_B1P
= 00 = 2o Nt D4 (2———FTRLSENLMC 28] 19_1_27IDIFFIO BN
= = 1281 |
- 19, ceser 05 |-8__FTDLADC_SDIO_READ gg 101 29/DIFFIO_B2N
101 LMK SDIO READ 33| I0_1_30/DIFFIO_B3P 1.8V LOGIC
249 NC2 D6 2 SH4 ADC_SCLK {{————————77— I0_1_33/DIFFIO_B3N 1.8V LOGIC T Ua-
1 SH4 ADC_SDENB {¢———————————=— I0_1_34/DIFFIO_B4P S 3.3V_LOGIC 9
= 223 osc b7 |8 FTDLDIR_CONTROL SH4 ADC_SDIOSS————————35~1 10_1_35/DIFFIO_B4N c113 1uF 311 VCClo1
SH4 ADC_SDO <{———37-{ I0_1_36/DIFFIO_B5P = ci12 || AuF 45| VCCIO1
0s5C0 RE -2 38| I0_1_37/DIFFIO_B5N c115 11 AuE . - 3.3V_LO VCCION
17 |22 ® :8_1_23/D|FFIO B6P e - 29 {vecioz
4 — &,
o1 2 SVOUT  TXE 4? 10_1_40/DIFFIO_B6N ez fL Lk c116 [ _.1uF gﬂ VCCIO?2
11F 2| AcnD RD 2 7 I8_1_41/DIFFIO_B7P c110 AuF VCCOI02
’ 78| GND 14 1.8Y_LOGIC 27 (O~ DI FioBoP :13 VCCINT
21| SND WR X : g 48 |O_1_48/DIFFIO_BON £120 || tuF 53 1 VCOINT
= 56 GND g2 SPI SELECTOR 29 | 10145 - !
is TEST PWREN FMC 1 ) g(1> I0-1 50/DIFFIO_B10P = 5M80ZT100
= FT245RL ° 10_1_51/DIFFIO_B10N
3 _1_! _|
usB SHOUNT 23 5MB0ZT100

FTDI_DIR_CONTROL 52 -
1.8V LOGIC D R 53 | 02 5a/DIFFIO_R7N
: FTDI_ADC_SDIO_READ 54 !
SERCLVK 25 54/DIFFIO_R7P
SENADC 3 55/DIFFIO_R6N
s e nen
U4-5 R143)R144 J19 1.8V LOGIC SBIO 58 ! Ua-4
22 1K S10K  PROG SCIK 61 S8/DIFFIO_RSP
™S 155 opLD 5 61 10_1_12/CLKO
DI |54 ToK 1 & 66/DIFFIO_RAN 10_1_14/CLK1
TCK 55 5 3 57| 10_2_67/DIFFIO_R4P 10_2_62/CLK2
D0 S : &5 10_2_68/DIFFIO_R3N 10_2_64/CLK3
s H 70| 10-2-59/DIFFIO_R3P SMBOZT100
10_1_43/DEV_OE/DIFFIO_BSP |3 — T 102 71/DIFFIO_R2N
10_1_44IDEV_CLRN/DIFFIO_B5N [~ — 251 10_2_72/DIFFIO_R2P
5MB0ZT100 R145 . 74| 19_2_73/DIFFIO_RTN
K 75| 10_2_74/DIFFIO_R1P
e 75/DIFFIO_T10N
SHB' LMK_SDIO 7| 10_2_76/DIFFIO_T10P
== SHB_LMK_SCK 25| 10_2_77/DIFFIO_TON
- SH8 LMK_CS 51| 10_2_78/DIFFIO_T9P
SH8  LMK_SDO 52 10_2_81/DIFFIO_T8N
25 82/DIFFIO_T8P
54| 10_2_83/DIFFIO_T7N
55 10_2_84/DIFFIO_T7P
5| 10_2_85/DIFFIO_T6N
&7 10_2_86/DIFFIO_T6P
5 87/DIFFIO_T5N
55 10_2_88/DIFFIO_T5P
0| 10_2_89/DIFFIO_T4N
51| I0_2_90/DIFFIO_T4P
oo 10_291
55 92/DIFFIO_T3N
58 10_2_95/DIFFIO_T3P
47| 10_2_96/DIFFIO_T2N
96| 10_2_97/DIFFIO_T2P
99| 10 2_98/DIFFIO_TIN
700 | |9-2-29DIFFIO_T1P B INTERFACE
SMBOZTT00

%i# TExAs INSTRUMENTS

itle

SH12 - USB INTERFACE

ize Document Number

B | ADC3XJXX EVM

Date: Monday, August 04, 2074 Bheet 12 of 12
5 I 4 I 3 I 2 1




